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(2) &iBEEE
X % PN} —=0 st
MEEE] A (/2xEEZE) 11,777,978 10,754,982 22,532,960/
WIEACE] B (I/2x AEIE) 12,010,068M 10,522,893M 22,532,9611
(s roeE C (A+D) 23,788,046H 21,277,875M 45,065,021M
(LB CARE LB D =
[ =3 E 6,681,792M 6,101,433M 12,783,225
FER F
RN G (E+D) 6,681,792H 6,101,433MH 12,783,225H
EIEE H (C+D-G) 17,106,254M 15,176,442/ 32,282,696M
=4 EET a0 ) 21,012,055M [MiE B BEER <
[E228 H- — A 5,835,613M

BM1



D6 FE FIRHAKE —SH—RERMUEEHEESE

&2
S5 F£E SEEHAaEER
S 4 FEOIIBANO CQIRENTEE UTzTzsd. Sl 5 FEDOEIBEIENEE L.
S5 FEER NEREEDC NS, BIEZIEDERBDIHZRITEDTHD.
OERBIBEIEDEFTN100%(CHIERVEEX (B X DI5E(E. SEBEDOERIBEISTHRELTLD,
1 CHEREEROEMBES (CRAT2ERAIE. ERMOIE(CREITIERBIE. TR HAUHEAZHOUIE(CRET 2EREIE
(1) e AOE
S5 FEEE SH5SEEFE o
R2EFE R3FE R4EE it p=tiEE =ty
TR 258,422 A 257,883 A 257,713 A 774,018 A 81.43% 81.43% 0.00%
PN ] 31,6344 31,475A 31,3534 94,462\ 9.94% 9.94% 0.00%
=) 27,564.A 27,381A 27,120A 82,065\ 8.63% 8.63% 0.00%
st 317,620 A 316,739A 316,186 A 950,545 A 100.00% 100.00% —
(2) yug=z|
1) CHEEAMERDREMEE (CRAT 2EAEIR
S5 FEEE SHSEEFE [
R2EE R3EE RAEE i =t p=tiEEy
TR 58,627 t 58,150 t 57,610t 174,387t 82.58% 82.55% 0.03%
PN ] 7,113t 7,058 t 6,998 t 21,169t 10.02% 10.02% 0.00%
] 5,321 t 5,214 t 5,090 t 15,625 t 7.40% 7.43% -0.03%
st 71,061 t 70,422 t 69,698 t 211,181t 100.00% 100.00% —
2) ERMONIRICEETIEREE
oE>
S5 FEEE SHSFEFE [T
R2EFE R3FE R4AEE 5 p=LiEE =ty
FixT 1,717t 1,679t 1,641t 5,037t 79.36% 79.27% 0.09%
ABHT 252t 247t 237t 736t 11.60% 11.65% -0.05%
=] 199t 191t 184 t 574t 9.04% 9.08% -0.04%
B 2,168 t 2,117t 2,062t 6,347 t 100.00% 100.00% —
@&
S 5 FEEE SHSFEFE [T
R2EFE R3FE RAEE 5 =ty i=tEE
TR 970t 927t 868 t 2,765t 83.83% 84.00% -0.17%
BT 100 t 100 t 98 t 298 t 9.04% 8.92% 0.12%
=] 82t 78t 75t 235t 7.13% 7.08% 0.05%
5t 1,152t 1,105 t 1,041t 3,298 t 100.00% 100.00% —
3) MRS HRUBAZ HDUNIB(CRET D EREIE
OB HFRUEKRZ
S 5 FEERE SHSFEFE [T
R2EEE R3EE RAEE 5 =tk =ty
TR 4,624t 3,997 t 3,547 t 12,168t 79.50% 79.66% -0.16%
AHHE] 575t 546 t 489t 1,610t 10.52% 10.52% 0.00%
=) 519t 518t 491t 1,528 9.98% 9.82% 0.16%
B 5,718 t 5,061 t 4,527t 15,306 t 100.00% 100.00% —
QENE
S 5 FEEE SIS EEFE Ho
R5EE it =t =ty
TR 2,060kg 2,060kg 54.54% 67.09% -12.55%
ABHT 1,717kg 1,717kg 45.46% 32.91% 12.55%
B 3,777kg 3,777kg 100.00% 100.00% —




2 HERKERESORIMES CEIIERSE
(1) BACE
D 5 FEEE DS FEFE [
R2EEE R3EE RAERE Hj =t =L
iR 258,422 A 257,883 A 257,713 A 774,018 A 81.43% 81.43% 0.00%
AHEET 31,634A 31,475A 31,353A 94,462 N 9.94% 9.94% 0.00%
—=H] 27,564 A 27,381 A 27,120 A 82,065A 8.63% 8.63% 0.00%
B 317,620 A 316,739A 316,186 A 950,545 A 100.00% 100.00% —
(2) WIBESEE|
D 5 FEEE DS FEFE [
R2EEE R3EE RAERE H =t =L
xR 922t 862t 830t 2,614t 76.93% 76.12% 0.81%
AHEET 93t 83t 72t 248 t 7.30% 7.45% -0.15%
—=H] 191t 190t 155t 536 t 15.77% 16.43% -0.66%
&t 1,206 t 1,135t 1,057 t 3,398 t 100.00% 100.00% —
3 URMUE(ICR9 2 EREE
(1) BAOE
Tl S EEEE TDH S EETE [
R2EEE R3EE RAEE i =EiEE= kiR
TR 9,978 A 10,607 A 9,709A 30,294 A 49.04% 49.14% -0.10%
KHEHET 11,397 A 10,441 A 9,647 A 31,485A 50.96% 50.86% 0.10%
gt 21,375A 21,048 A 19,356 A 61,779 100.00% 100.00% —
(2) WIBESE|
D 5 FEEE DS FEFE -
R2EEE R3EE RAEE & &i8glE =Lz
iR 6,864 t 5,472t 5,111t 17,447 t 46.98% 47.25% -0.27%
ABEET 6,718 t 6,583t 6,392t 19,693 t 53.02% 52.75% 0.27%
it 13,582t 12,055t 11,503 t 37,140 t 100.00% 100.00% —
4 UBA0IIEI—-DORHEE(CRHIDIEREE
(1) SBACOE
D5 FEEE DH S EEFE -
R2EEE R3EE RAEE Sir &i8glE =Lz
KHEHET 31,634 A 31,475A 31,353A 94,462 N 53.51% 53.51% 0.00%
= H] 27,564 A 27,381A 27,120 82,065A 46.49% 46.49% 0.00%
& 59,198 A 58,856 A 58,473 A 176,527 A 100.00% 100.00% —
(2) WIEEE|
OBERVETSRFYY
D5 FEEE DH S EEFE -
R2EEE R3EE RAEE 5 &i8glE =Lz
KHEHET 463 t 460 t 445t 1,368 t 52.64% 52.69% -0.05%
—=H] 416t 413t 402 t 1,231t 47.36% 47.31% 0.05%
&t 879t 873t 847t 2,599t 100.00% 100.00% —
@~w MRV
T 5 FEEE DS FETE [
R2EEE R3EE RAEE H =t EiERe)
AHEH] 100 t 103t 104 t 307t 52.66% 52.67% -0.01%
= o1t 92t 93t 276 t 47.34% 47.33% 0.01%
B 191t 195t 197t 583t 100.00% 100.00% —




